

معادله نذران 1:

$$m = \frac{\Delta y}{\Delta x} = -\frac{1}{2}$$

(1) اف (1) - 1/2

$$y = am + b \rightarrow -\frac{1}{2}m + b \quad \boxed{y = -\frac{1}{2}m + 1.5}$$

$$-\frac{1}{2}(2) + b = 1 \rightarrow b = 2$$

$$m = -\frac{1}{2} = -\frac{1}{2}$$

(2) باز 1/2

$$y = am + b = -\frac{1}{2}m + b$$

$$\boxed{y = -\frac{1}{2}m + 1.5}$$

$$1.5 - \frac{1}{2}(2) + b = 1 \rightarrow b = 1$$

$$m = -\frac{1}{2} = -\frac{1}{2} \rightarrow m = -\frac{1}{2}$$

(2) باز 1/2

$$m = -\frac{1}{2}$$

$$1.5(2) + b = 1 \rightarrow b = -1$$

$$\boxed{y = -\frac{1}{2}m - 1}$$

$$\tan \frac{\pi}{4} = \sqrt{3}$$

$$\boxed{y = \sqrt{3}m + 2 - \sqrt{3}}$$

(3) باز 1/2

$$y = am + b \rightarrow y = \sqrt{3}m + b \quad 2 - \sqrt{3} = \sqrt{3} + b \rightarrow b = 2 - \sqrt{3}$$

$$AB = \sqrt{\Delta x^2 + \Delta y^2} \rightarrow \sqrt{4 + 16} \rightarrow \sqrt{20} = 2\sqrt{5} \quad (2) \text{ اف}$$

$$\frac{|4 + 12 - 2|}{\sqrt{20}} \rightarrow \frac{14}{\sqrt{20}} \leftarrow \frac{|am + by + c|}{\sqrt{a^2 + b^2}}$$

$$d = \frac{|c - c'|}{\sqrt{a^2 + b^2}} \rightarrow \frac{|12 - 1|}{\sqrt{20}}$$

$$am + by + \frac{c' + c}{2} \quad (3) \text{ اف}$$

$$\rightarrow 2m + 4y + \frac{2 - 2}{2} \rightarrow \boxed{2m + 4y - 1.5}$$

$$\frac{1}{2\sqrt{3}} \rightarrow \frac{\sqrt{3}}{2}$$

$$\begin{cases} 2m + 4y - 1.5 = 0 \\ 2m + 4y - 4.5 = 0 \\ 2m + 4y - 1.5 = 0 \end{cases} \quad \text{نقطه تقاطع}$$

$$r_m - r_y = 1$$

$$r_m + r_y = r$$

$$\frac{|r_m - r_y - 1|}{\sqrt{9 + \epsilon}} = \frac{|r_m + r_y - r|}{\sqrt{\epsilon + 9}} \quad (3)$$

$$\frac{|am + by - c|}{\sqrt{a^2 + b^2}} \leq \frac{|a'm + b'y - c|}{\sqrt{a'^2 + b'^2}} \quad |r_m - r_y - 1| \leq |r_m + r_y - r|$$

$$r_m - r_y - 1 \leq r_m + r_y - r \rightarrow m - \delta y = -r$$

$$m - \delta y + r \leq 0$$

$$r_m - r_y - 1 \leq -r_m - r_y + r \rightarrow \delta m + y \leq \epsilon$$

$$\delta m + y - \epsilon \leq 0$$

$$y + r_m - r = 0 \quad y - r_m - \delta = 0 \quad (4)$$

$$m = -\frac{r}{1} \pm r \quad m = \frac{r}{1} \pm r$$

$$\tan \alpha = \left| \frac{m - m'}{1 + mm'} \right| \rightarrow \left| \frac{-\frac{r}{1} - r}{1 - \frac{r}{1} \cdot r} \right| \rightarrow \left| \frac{-2r}{1 - r^2} \right| \rightarrow 1 \quad \tan \alpha = 1$$

$$\alpha = \frac{\pi}{4} \rightarrow 45^\circ$$

$$A \begin{vmatrix} r \\ -r \end{vmatrix} B \begin{vmatrix} -\delta \\ \epsilon \end{vmatrix}$$

$$AB = \sqrt{(r + \delta)r + (-r - \epsilon)r} \quad \text{Nil } (4)$$

$$\sqrt{100} = 10$$

$$M \begin{vmatrix} \frac{(m_A + m_B)}{r} \\ \frac{(y_A + y_B)}{r} \end{vmatrix} \begin{vmatrix} -\frac{r}{r} = -1 \\ \frac{r}{r} = 1 \end{vmatrix} \quad \left(M \begin{vmatrix} -1 \\ 1 \end{vmatrix} \right)$$

$$\begin{vmatrix} -1 & -2 & 1 \\ -1 & 1 & 1 \end{vmatrix} \rightarrow \text{دستور اولی}$$

(۷) الف)

$$G \begin{vmatrix} \frac{m_1 + m_2 + m_3}{r} \\ \frac{y_1 + y_2 + y_3}{r} \end{vmatrix} \begin{vmatrix} \frac{r-1-1}{r} \rightarrow \frac{-1}{r} = -1 \\ \frac{1+1-1}{r} \rightarrow \frac{1}{r} = 1 \end{vmatrix} \quad G = (-1, -1)$$

$$S = \frac{1}{r} \begin{vmatrix} -1 & -2 & 1 \\ -1 & 1 & 1 \\ 1 & 1 & 1 \end{vmatrix} \Rightarrow \frac{1}{r} |44| = 44$$

$$|-1 \cdot 1 \cdot 1 - (-1 \cdot 1 \cdot 1 + 1 \cdot 1 \cdot 1)|$$

$$y = \frac{r_{m+1}}{\epsilon_{m-r}}$$

$$-y = \frac{r_{m+1}}{\epsilon_{m-r}}$$

(۸) الف)

ی مترسبی شود

$$y = \frac{r_{m+1}}{-\epsilon_{m+r}}$$

$$y = \frac{r_{2k}-1}{\epsilon_{m+r}}$$

$$y = \frac{-r_{m+1}}{-\epsilon_{m-r}}$$

ب) مترسبی شود

$$n = \frac{r_{y+1}}{\epsilon_{y-r}} \rightarrow y = \frac{r_{m-1}}{r-\epsilon_m}$$

ج) مترسبی شود

$$y = \frac{r_{m+1}}{\epsilon_{m-r}}$$

$$-n = \frac{-r_{y+1}}{-\epsilon_{y-r}} \rightarrow y = \frac{r_{m-1}}{-\epsilon_{m-r}}$$

د) مترسبی شود

$$y = \frac{r_{m+1}}{\epsilon_{m+r}}$$

$$\left(y = \frac{r_{m+1}}{m-r} \right) \text{ مع } (9)$$

$$\left\{ \begin{array}{l} m' = m-r \\ y' = y+r \end{array} \right\} \rightarrow \left\{ \begin{array}{l} m, n'+r \\ y, y'-r \end{array} \right\} \rightarrow y' - r = \frac{r_{m'+0}}{n'-1} \quad | \text{ مع } r \text{ ضارب}$$

$$y' = \frac{r_{m+0}}{n'-1} + r = y' = \frac{r_{m'+0} + r_{m'-r}}{n'-1}$$

$$\boxed{y' = \frac{r_{m'+r}}{n'-1}}$$

$$\left\{ \begin{array}{l} m' = m-r \\ y' = y-r \end{array} \right\} \rightarrow \left\{ \begin{array}{l} m, n'+r \\ y, y'+r \end{array} \right\} \rightarrow y' + r = \frac{r_{m'+v}}{n'} \rightarrow y' = \frac{r_{m'+v}}{n'} - r = \left(-\frac{r_{m'}}{n'} \right)$$

$$\boxed{y' = \frac{v}{n'}}$$

$$\left(\begin{array}{l} r_{m+0}y = r \\ m-0y = 1 \end{array} \right) (10)$$

$$m = \frac{(1)(1) - (r)(-0)}{(r)(-0) - (1)(1)} \rightarrow m = \frac{1}{19}$$

$$y = \frac{(r)(1) - (1)(r)}{(r)(-0) - (1)(1)} \rightarrow \boxed{y = -\frac{1}{19}}$$

$$\left\{ \begin{array}{l} r_{m+0}y = r \\ (m-0y = 1) \times -r \end{array} \right\}$$

$$\begin{array}{l} r_{m+0}y = r \\ -r_{m+0}y = -r \\ 19y = -1 \end{array}$$

$$\boxed{y = -\frac{1}{19}}$$

$$\boxed{m = \frac{1}{19}}$$